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Topic:- GENERAL HINDI

1) ‘S ITFT A TN I< 2 -
1. PTH DTS

2. BACIR

3. PIEAR

4. DIHIR

Correct Answer :-

2) T gS qraai? 31 M B G, Db diel il SUYE ISR {HH DR BT ST 2
1. v

2. AT

3. HFdIpROT

4. IS T8l

Correct Answer

3) SirEl & guAT - geTar &1 o P iwel A Qw82
1. 3T =

2. fAfsrg &

3. 31T

4, o &

Correct Answer :-
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4) T & o at yataart ar wegi o ufe o1 gl
1. d¢, dR, IR
2. €, R, PR
3. T3, IR, R

4, T3, IR, HR

T
5) fFafared 9 &1 Y& ¥0 - T 7 faweul 4 9 gase -
3 ATY & FHaT 7 |
1. 3{e 37U ST Yebell B
2. 378 31U ST §hd Bl |
3. 3fd 3T S Hevel & |
4, 3TT 3fd ¥ TH B
Correct Answer =
o SIS AT ST b T
6) Ucaer o1 7 § A oI ut floav w5 87
1. WRIE
2. RS
3. TR
4. W=

Correct Answer :-

. WRIE

7) “3THIG1” 3 Xeq BT Tal UIRUTSG =7 g2
1. 37Ot RN SR H=eAT

2. SR SAT

3, ST AL &

4. 79 & H9 Ugd BT
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Correct Answer :-

o SO AL

8) SrpIadifee T U TrTRIE fave FEd A S arg?
1. 3fpTd 9§ Uifea

2. 3BT & forg RfSa

3. 3BT P UifSd

4. 3fhTd R Uifsd

Correct Answer :-

A [ R RV TS |

9) Fora TRt 1 Ul AR B & fo SugT TE B -
1, SYATRIT

2. 3YThd

3. Mi¥eufieT

10) HIMA TS I@ATRI' 59 a1 & N W & Sugad e WX |
1.6 SR YGT

2. DI HgT

3. W Yl

4. % AN YGT

Correct Answer :-

. WYl

Topic:- GENERAL ENGLISH

1) Out of the following options, choose the correct form of verb that is in agreement with the subject for the
given sentence:
A number of students suspended during the riots in 1998.
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1. were
2.1s

3. has been

2) A sentence with an underlined word is given below. Choose the correct option which is closest in
meaning to the underlined word.
Despair drove her to suicide.

1. Hopelessness
2. Debts
3. Poverty

4. Loneliness

Correct Answer :-

« Hopelessness

3) Out of the following four options, choose the incorrect sentence:

1. Ethanol is a environment friendly as it enhances combustion of petrol resulting in lower hydrocarbon emissions.

2. Toddlers in the village followed their noses to the booth where pudding was being prepared as part of the mid-
day meal.

3. Team India under the captaincy from Rahul Dravid took off for its South Africa tour.

4. The glamour, fame and money of boxing have lured the likes of the Alis and the Tysons to shed their headgear.

Correct Answer :-
« Ethanol is a environment friendly as it enhances combustion of petrol resulting in lower hydrocarbon emissions.

4) Out of the following options, choose the correct form of adverb for the given sentence:
My friend speaks very .

1. softest
2. softly

3. soft
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4. hardly
Correct Answer :-
« softly

5) Out of the following options, choose the most appropriate usage to fill in the blank:

When he continued to make the same mistake despite constant reminders, I him where he had gone
wrong.

1. explained
2. explained to
3. explains

4. explain

Correct Answer :-

« explained to

6) Choose the option that best expresses the meaning of the highlighted idiom/phrase:

I wish I could weave my magic and get things back in order.
1. to behave in a way that attracts interest or makes someone behave in a particular way

2. to make something easy to access for anyone who knows or can perform magic

3. to make something difficult for anyone to understand and therefore, inaccessible

4. to cast a spell on somebody so that they disbelieve everything that is done
Correct Answer :-

« to behave in a way that attracts interest or makes someone behave in a particular way

7) Choose the option that correctly sequences the following sentences:

1. World temperatures already have increased this century by about 0.6 degrees Celsius and are projected
to rise by between 1.6 degrees and 3.8 degrees by 2100.

2. Current projections are that sea levels worldwide will rise by 15 to 90 centimeters by 2100, depending on
whether action is taken to reduce greenhouse gas emissions or not.

3. Global warming is caused by the burning of large amounts of fossil fuels, such as coal and oil, which
release gases that trap heat in the atmosphere.

4. Sea levels could rise as glaciers melted and the higher temperatures expanded the size of the oceans,
threatening much of land, which was originally reclaimed.

1. 1234

Page- 5



Correct Answer :-

- 3142

8) Out of the following options, choose the most appropriate tense that best fills in to complete the given
sentence:
Sometime back, there was so much rain that the river over the bridge.

1. flowed
2. had flowed

3. flew

Correct Answer :-

» flowed

Topic:- GENERAL KNOWLEDGE

1) Name India’s only producer and supplier of rails to Indian Railways? /
YRET Yo & e URd & ¥ & vaar fHafar iR smfdwat o1 am san|
1. Durgapur Steel Plant / gTﬁg? el Wie

2. Bokaro Steel Plant / SIPRI Wid wic

3. Tata Steel / <ICT S¥UId

4. SAIL’s Bhilai Steel Plant / 9d T TS Wi &ie

Correct Answer :-

« SAIL’s Bhilai Steel Plant / I o7 s ¥id wiic

2) 'Pommel Horse' is a term associated with which of the following games? /
e g Weg i & 3 frw B 9 G9itE 22

1. Gymnastics / fSrofes

2. Chess / [col
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3. Billiards / faferagd
4. Synchronized swimming / AP aRIpT

Correct Answer :-

« Gymnastics / ForgTReRT

3) The Mugger or Marsh Crocodile found significantly in the Chambal river is classified as in the
IUCN Red List /

doe 14t § UG oM 919 TR 7 97 FRAS Seia 1 w0 § g are g § Fwud
Tifepd forar mar B

1. critically endangered / TR U g [NUSIR)
2. vulnerable / TR

3. endangered / JWIYUTI
4. near threatened / HUdP

Correct Answer :-

. vulnerable / STITTARY

4) Consider the following statements regarding the revised eligibility criteria for Old age Pension under the
Indira Gandhi National Old Age Pension Scheme (IGNOAPS).Choose which one is correct. /

Sfer el gy graT YR dieEn (sndshiumsiudiv) & ded JSTawi U¥E & g wxifia dvaar adst &
ey § Fyfirad $U R f[IaR $31 T8 &1 T899 3

1. The BPL widows with severe and multiple disabilities in the age group 60-79 years are included in the scheme. /
60-79 Y g i H TR 3R wg feuivar areh sfiua faeanstt ot o & <nfira far mar g1

2. The BPL widows with severe and multiple disabilities in the age group 60-79 years are excluded from the scheme. /
60-79 I9 g ¥ § TR MR §g feaaivar areht diditua faerarsit o Ao I aTgR 391 T g

3. The BPL persons with severe and multiple disabilities in the age group 60-79 years are included in the scheme. /
60-79 Y 31g o | TR 31k g feeairan arat shdiue sfema ot dsr & 2nferd foar T B

4. The age of applicant shall be 55 years or more. / 3{TASH DI 3H 55 IY 1 I 3fH Uil

v Correct Answe,-- e
» The BPL widows with severe and multiple disabilities in the age group 60-79 years are excluded from the scheme. /

60-79 a¥ 31y o § TR oiR §g feaaivar amil stdiee faearsn & aiemn ¥ aTgR X&1 T 5
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T YR & I ISTUTd BT 1 dars g, fors siast 2018 T aga fear mar Ul
1. Anandiben Patel / 3{TgIa yed

2. Om Prakash Kohli / 319 U= dlgal

3. Rameshwar Thakur / TR IR

4. Ram Naresh Yadav / I -RY[ I1&d

Correct Answer :-

« Om Prakash Kohli / 31H U ﬁ??ﬁ

6) Who was the first woman Governor of Madhya Pradesh? / IZI’EII'EI%QT B IYH 'FI'%ET LIGET & A2
1. Smt. Sushri Uma Bharti / ﬁ’}ﬁ 34T YRl

2. Smt. Sharda Mukherjee / T W@Gﬁ

3. Smt. Sarla Grewal / Sl TRl Jard

4. Smt. Anandiben Patel / STAcH SfFla ged

Correct Answer :-

. Smt. Sarla Grewal / FHcl I JdTd

7) The First Kalidasa Samaroh at Ujjain in 1958 was inaugurated by .

1958 B I=i § UYH BT IGRT THARIG BT IGUC = forar i
1. Dr. Rajendra Prasad / SI. ol TG

2. Pt. Jawaharlal Nehru / GfSd SIATER AT A6
3. Sarvepalli Radhakrishnan / BERG] NEICSUE]
4. Lal Bahadur Shastri / €lc] d8IgR

Correct Answer :-

 Dr. Rajendra Prasad / SI. oI TG

8) The Gun Carriage Factory is located in which district of Madhya Pradesh? /
T Hivel adt wen wer & [ R o fRa 82

1. Ujjain / S

2. Bhopal / )

3. Jabalpur / Sle[cYx
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4. Gwalior / TTCRIR
Correct Answer :-
+ Jabalpur / &Y

9) Ms. Uma Bharti served as the Chief Minister of Madhya Pradesh from the year ./
ASHURA A T AHUIR S GHA & TU § HRAYR FUTET AT

1. 2003 102005 / TY 2003 | WHR dY 2005

2. 2003 to 2004 / T 2003 T WP TY 2004

3.2001 to 2003 / TY 2001 T WP TY 2003

4.2004 to 2005 / TY 2004 T TR TS 2005
P

. 2003 to 2004 / TY 2003 T AHR T8 2004

10) Ram Prasad Bismil was one of the 3rd Indian revolutionaries to be hanged by the British for: /
IrvRITS fafere o uevor & g Siiwil g1 Wikt foE 1T &4 a9 WRdh shifaeival 9§ 9 e 3
1. Alipore Bomb Case / &Ifﬁ'QT o[ H Y0

2. Chittagong Armoury Raid / f%@'lTan QEANTR D1UT

3. Kakori Conspiracy Case / PIH IR TSdd BT

4, Chauri-Chaura / ‘Eﬁﬂ—iﬁﬂ

Correct Answer :-

« Kakori Conspiracy Case / BTDIRI Ned= HahR0l

Topic:- GENERAL REASONING

1) Find the average. / 3 NIG) ol
85, 96, 45, 65, 78 & 45

1. 78

2. 69

3.59

4. 65
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2) Find the missing number: / T JS&T AT I
7,11,19, 35,67, ,259

1. 130

2. 131

3.140

4,129

Correct Answer :-

. 131

3) If E = 5, AMENDMENT = 89, then SECRETARY is /
Tfe E = 5, AMENDMENT = 89, f SECRETARY 8o

1. 112

2. 114

3.100

4,115

Correct Answer :-

. 114

4) A can lay railway track between two given stations in 14 days and B can do the same job in 10 days. With
the help of C, they did the job in 4 days only. In how many days C alone can finish the job? /

A Tl W=l & o 14 {7 O Y04 2P &) [asT1 %1 § 31R B 3 HRIE &Y 10 R T wwa 81 ¢
P Heg W, 91 59 B o1 Rk 4 o7 & o2 T@d €1 ¢ 3idhat 39 wii fovam o=l o R1 o7 It 2

8 8
12—davs / 12— &=
11 - / 1

1. 1
g g
14—days / 14—
, s/ T
S g
13> das / 13~
Bppdars/ T

3

S S
[5—davs/ 15—
4, 11~ / lllra?r
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Correct Answer :-

s §
125 davs / 12> Ry
| Pppdas/ g

5) The below series uses a sequence of alphabets and numbers. ldentify the incorrect combination: /

A e 3eRY Td TBATSHT BT 3rIehH UINT Bl 8| Terd JaIor ugan- |

(i) mo458ni782lke
(ii) mo458ni1782Lke
(iiil) mo458nl782lke

(iv) mo458ni782lke

6) Which one of the following four addresses is NOT EXACTLY same as the one given below? /
Frafefaa for e IR ual § 9 R fou 7T ud & St 99H o 91 v T8 82

Al Mamzar, Abraj Al Mamzar building
Flat No. 509/Block A - Dubai - United Arab Emirates
+971 4 220 7774

(i) Al Mamzar, Abraj Al Mamzar building
Flat No. 509/Block A - Dubai - United Arab Emirates
+971 4 220 7774

(ii) Al Mamzar, Abraj Al Manzar building
Flat No. 599/Block A - Dubai - United Arab Emirates
+971 4 220 7774

(iii) Al Mamzar, Abraj Al Mamzar building
Flat No. 509/Block A - Dubai - United Arab Emirates
+971 4 220 7774

(iv) Al Mamzar, Abraj Al Mamzar building
Flat No. 509/Block A - Dubai - United Arab Emirates
+971 4 220 7774

1.1
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Correct Answer :-

e i

7) There are 20 students in a History class and 80 students in a Geography class. Find the number of
students who are either in a History class or in a Geography class, when the two classes meet at different
hours and 10 students are enrolled in both the courses./

TP e & e o 20 T & 3R 1T &1 Bei1 o 80 BT &1 5d G HETT ST-3feT Hel U= frerdt € oiiv =l
UrgspHl § 10 BT ATHIFPT €, d1 S BTH1 B1 TBAT JTd B3 Sl AT a1 SIA8TT St H&T H § T 4T &1 Fem d g1

1.90
2. 80
3.70

4. 100

Correct Answer :-

Topic:- PEDAGOGY

1) Problem solving is more likely to succeed in schools where: /

T AT & 3 3B dl § hd g Pt HHIGHT 3D g 8-
1. Teacher-centric pedagogy is in effect. / Rrerm-dhiad feu®! gHE H gt % I
2. Students are homogeneous. / 9T IoTar %I

3. The emphasis is only on discipline. / SR had STIRINT IR gl %I

4. A flexible curriculum is in place. / 31'\1:Iq UT&AshH SITE H Bl %I

Correct Answer :-

« A flexible curriculum is in place. / &Ij:ICI UIdh H oiile x| ES-\ICII %I

2) In memory, the information is stored in: /
Tfa ®, A =1 | vsTia gidl 8:
1. ATM only / Hdd TeITH
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2. LTM & ATM / TdcITH 3R TEITH
3. STM & LTM / TIEITH 3R Tac vy
4. Working Memory only / HId FIBRL @Iﬁ[

Correct Answer :-

. STM & LTM / TEAITH 3R TadiuH

3) is listening for getting the content of a message. /
U U 91 e & U 39 & R g 3 uipar 21
1. Probing listening / Sira-fafer sraor

2. Passive listening / e gqur

3. None of the above / SURIGd § I ﬁ_s; Tol
4, Deliberative listening / o=t s

Correct Answer :-

« Deliberative listening / o=l saur

4) In the process of teaching, a teacher should always try to: /

Rreror 91 ufehan A, v Riere &1 g8 FE & fore SR &= Tnfew:
1. Provide ample homework / A 11'5‘@?1“ Rl

2. Keep the students in good humor / ST Dl 3] Hﬂ\qul\’l T TG Bl

3. Increase the severity of punishment / oIl CARIBIRG]] m Gl
4. Give proper feedback and reinforcement / SIEN Erﬁrqf@ (Efﬂ_s’aﬁ) 3R UFe S &

Correct Answetr :-

« Give proper feedback and reinforcement / SN Erﬁrg@ (tﬁ@%@ 3R U S &

5) The span of visual attention is measure by: /

T AT (Fageret oreere) &1 raft @1 Aru= T & gRT fopar ST &:
1. Periscope / CIRSSaL]

2. Microscope / ATSh DT @&I{'{Qﬁ)

3. Tachistoscope / frerm @m

4, Kaleidoscope / %ﬁ@l@’ﬁq




Correct Answer :-

+ Tachistoscope / ¢l I (SgHfcralT)

6) ‘Out-of-the-box’ thinking is related to: /
HIH ST g1 ey fiad e & Hafta &:
1. Divergent Thinking / SR feidd

2. Logical Thinking / dTfchep feia

3. Evaluative Thinking / eI [CGE|

4, Convergent Thinking / SHRY i

Correct Answer :-

« Divergent Thinking / SR i

7) Inclusive education refers to a school education system that: /

FHTART 18 g Tpe g yomedt @ Wefa o 8 s

1. Encourages education of children with special needs through exclusive schools / fa=Iy Wﬁ & AT ¥ TRy
SEl arel Sred! Bt TRI&M B UicTied PRl ol

2. Emphasizes the need to promote the education of the girl child only. / I JTCIpT B! TR BT TGIaT ol B
HMAH IR I ol 3

3. Includes children regardless of physical, intellectual, social, linguistic or other differently abled conditions. /

ﬁ%%,sﬁi?gqo, TR, S8 HTYT a4t a1 3 SraT-sra fuferll o) tRarg ot fom s &t enfira
CRGI

Correct Answer :-

« Includes children regardless of physical, intellectual, social, linguistic or other differently abled conditions. /
e, slifces, TN, 9 WIS Saeh 37 8f= SfaT-Sien RUfdl &1 tRaTe fort fomT =i & 2nfira
GG

8) The best way to change the wrong doing of a child is by: /

TP I & T0d DTH B} 9Ga BT Ha 38T a1l 7+ 3
1. Giving one more chance / Uch 31R HidpT TP

2. Teaching good moral values / 3= Al Hed ol fRrgror <
3. Punishment / G8 G&X
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4. By giving awards / YIIPR LN
Correct Answer :-
« Teaching good moral values / 3= Afaw H DT &0 G

9) The best way of helping the learning-disabled is to: /
ST H 3131 TR BT HETAdT DA BT AAHTS ARIPT (1 &:

1. Improve their fundamental skills like reading, writing, spelling and comprehension. / 3P Ha4d PIRIA S

U1, foraTT el T 99 & 98eR 9|
2. Insist that they overcome their disability. / SIR ¢ fob 9 31T S1&AdT UR Sitd Ui PR uid|

3. Give them less things to study. / —o'% T &b f?*fq Dy Eﬁ@f a"l

4, Give them less home work. / d*‘g G RIS GAp a'l

Correct Answer :-

+ Improve their fundamental skills like reading, writing, spelling and comprehension. / 3P HalYd PHIR S

T T, TorRa=T Wi TUT 9 P 9gaR a1 |

10) The best way to help students do well in their studies is through: /

B DI SADT AT 3T ARG W P A TERIAT P DT I 35T dRIPT 8:
1. Guidance and counseling / TNfERA 3R TR

2. Punishment / FSIT

3. Rigid and Strict Discipline / HOR 3R T STIRIMET

4. Rewards / YR¥PX

Correct Answer :-
+ Guidance and counseling / HI R 3R TRARf

11) When a test is administered the second time to the same students, if they obtain similar results as that
of the first one, the test is said to be: /

Y TP B B & T o) R wdleror w=iiid forar Simar 8 ik SuH g o Y ulkund yre gy <t
X YHR & UI&I0T B HGT Il o

1. Repeatable / CIRNE RN

2. Reliable / fa%a=ta
3. Valid / 9
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4. Normative / H[Hh
Correct Answer :-
« Reliable / [a%Ta

12) 'National Council of Educational Research and Training’ was established in .
RIS QEF SR 3R URIgor gRue $t RIT=r a9 Aot s A

1. 1962

2. 1961

3. 1986

4. 1963

Correct Answer -
« 1961

13) Which is the highest level of cognitive development? /

IS AT T FEaH W B 182

1. Sensorimotor stage / YRR WS

2. Concrete operational stage / PHpIC IR ol
3. Preoperational stage / ISR ol

4, Formal operational stage / WA AR ol

Correct Answer :-

+ Formal operational stage / i SR ol

14) Which is not the advantage of team teaching?/

g A& T ATH i IT 781 82

1. Better financial benefits of teachers / fR7&feh| & dga” fa<iig ary
2. Better use of teaching techniques / RENKEEICIE ascN ST
3. Better planning / CRSRIISEI]

4. Better utilization of resources / ST BT é%m STIRT

Correct Answer :-

« Better financial benefits of teachers / ﬁT&lﬁ ﬁ é@?ﬁ o< Ty
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15) Which learning method is better for a visual learner? /

=g st Riendf (agere k) & fore @i 9t sreaa=t womelt dgar il 82
1. Gaming technique / ¢l dTell deb-Idh (TIHT <fdTah)

2. Association technique / T dPb-lh (THIRTETH <faeh)

3. Concept mapping / GYURTUI ATRET0T

4. Recitation method / Y& T S{IdI<l EVIK]]

Correct Answer :-

« Concept mapping / HAJYRU T E0T

Topic:- SANSKRIT

1) CANCELLED
HEHROd ofdeh: & 7
1. 3AYT: |

Correct Answer :-

, 0TI |

2) CANCELLED

W] T, ATt = gol et & gead 2
1, TEIF |
3, AAlTciepTed |

Correct Answer :-

| T |
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3) CANCELLED

e, 3TEATiie Afcr fasmd & geg ?

4) AR 5T & dGaIcaT: ?

3, 8% AT |

z.ﬂ_glf[w: |

5, B WO |

Correct Answer :-

HdY 93 |

° e

5) 37 TURT WA W & W, TEURAT ThIGeT Hafel?
| TR |

2. EraTaTe: |

5, JEURR: |

4, SSHTE: |

Correct Answer :-
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g, A |

Correct Answer :-

11) o[¢ THRET o eran: H&W@'&WW@T&?
1. Hafd |
2. HATH: |
3, € |
4, AT |

Correct Answer :-

o HAA |

12) 36T ATHRT TXHAHAIG Fed

Y TR OX hedT ol [dagiedd o]

| T9 ¢ Fearar faamgicads] 3 |

, FH I Fedran: faargicda: 3, |

HH 9§ shedl Tdagicads 3R |

3

4, T IEH Fearr faagicad 3 |

Correct Answer :-

HH Y hodran: faargicad: 3 |
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13) Figearm: g GRRATCHST: & ?
| TRRRTE: |
2. \IHdeg: |
3. ERTS: |
4, SONTH: |

Correct Answer :-

14) gHATIHREN] WEATERISRT: TYAHT: Fe Toad: & ?
. Tad e |

ZWW:I

3, AT, (/AR T |

5, U (37 I |

Correct Answer :-
%l?i (3-1?0 U |

15) gragedd IeIHeded A dr &: ?
y, 997 |
5. GUST |

3. foafigor: |

4, dTUT: |

Correct Answer :-

16) otarfOTen: (fratomel radT) JoreT: TXhR: &: |

| 3TeeTvTereT |
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Z_WST:I
3_€ﬁ31ﬁ|
4.1%161—6:I

Correct Answer :-

17) TawAaelad @ dAedhed HAEr & 7
| ITIETd: |
2. B |
3, 39TE: |
331334%: |

4. 7S

Correct Answer :-

18) yyenfarfésey wmATfSrRaegH ey IfRId seeh fove ?
. FUTIRGH |
7 Hbti;a'viE&ﬂ\ |
3, G, |
STERTHTIUTH
3, e Ul

Correct Answer :-

19) e QI ey 3ol & ?
. eTaFaee J39: |
, JETEESH I |

3. TR 9e9: |
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4_QGI'I1‘:D%!F"L?FTIG|TI

Correct Answer :-

20) Hfg weageT: dgr: Afed ?
1_W:|

5. 3T |
3. ﬁ:&]—%: |
4, %Qﬁ__a |

Correct Answer :-

21) 3roft 3Red Ao SRR oo ‘s T e ?
|, dewifyare |

,, dTeH e faRT=Icl AT |

3, TR |

4. TR ARTANG |

Correct Answer :-

. erafaRfEd FEeIRe |

22) T cgrqu?d: chielT aé?f ?
i @ d g0 sfa |
, T A s |

3 {HlcHh hicdH 5id |

4, THOTAAYEH: 5 |

Correct Answer :-

eI aedd 5id |



23) ufderseEd JART Tehadd fohd ?
1, 9ol |

5, T |

3, i |

g, T

Correct Answer :-

24) Fifererye ffd eat Ageedt & 2

FHARTEHTH - fegeraed |
1‘ o bl a .

TIALMH - HHNTETTH |
. o = ‘D =

T - foIdeaas]
3, V49 3 (I

IETIRICGIE HEeTH,
g, TNVIARETIER {1

2

Correct Answer :-

TIAAH - FHNIFHTH |
a -~ o ~

25) HefAfESeY eredy SohRIv: TAfeIsIREg: &: ?
| ATV’ e |

), T AT |

el ersg: |

4, THOT Qe |

Correct Answer :-

26) h: ohR: HidSATT Tg=ad ?

L 7|
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2, |

3.FIS:I

4. <!

Correct Answer :-

T |

27) AEHIC: HIEHA AT easdid ?

(=

1. avlﬂfém I

Correct Answer :-

. THATE |

28) “fair Sich e Al il o fdsTercr: Walerg e ?

| T, aga?f, gaafdereaa: |

, S, ageff, yedfaseaa: |

3 aqeff, wsdl, FeaHifasF: |
4, Gadrar, gdiar, IsaEfasEaT: |

Correct Answer :-

| cladrar, gdian, gseEfaasaa: |

29) ‘=gHq HITAA Talel faeNa & FTHART - 56 FET GGV ?

TSCledlelgh e |

5 TRIFIATHRET |

I
3, [AHTAATGhIRE |

THMTeIShRTT |
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Correct Answer :-

ST dlelSehI |

30) gersenie shid fdeded ?
1 9|

2, 9o |
3. 9vd |

4, AU |

Correct Answer :-

31) RIOTEAT IARIAT e ?
1. STIHG Y |

, HUGHGTE: |

3, STFE: |

4, ARGHGY: |

Correct Answer :-

32)

Correct Answer :-

. SUEHE |
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33) ‘eilhadSed ey AlChed EANFEIH, 3TRd ?

|, FaCATHACaRY |
2. FTCARIEATHFR |
5. fasmaaRiT |

4 ﬁiﬁﬂlﬂﬂﬂgﬁm |

Correct Answer :-

Hiﬁﬂlﬂ‘%ﬂgﬁﬂw |

34) TaeEHETeH RGeS died: $id TEE dhel oI fHdH ?
1. o I

Z_g,a‘ragﬁml
3. 5 l
4.0””0Ii 1

Correct Answer :-

35) vy HAfgsTcehiiels ScaAYedaadasd (sharde, [he, ?

1. RIS |

p, PXAH |
5 A |
4, I |

Correct Answer :-

36) wograred fhA 9dcdd ?
| ST fergarar gevereie |
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, R GecieAuHTe gz |

3, I TAHATATAT GATAH, |

4, T STERIEAT Zemid |

Correct Answer :-

QENRIAT TodTie T HTeAT GRITIH |

Correct Answer :-

. AlAerded |

38) ¥q fohareadll dd fhd ?
p, Forse

5, hIXchd |

3, Torerferd: |

4 clr.]HFL |

Correct Answer :-

39) 37H TAARIEG: @t ?
l_ﬁ?,['

5 Id |
3. E ;-I

4. 5L |
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Correct Answer :-

| 3EAT |

40) Feohich AT TRecd: &: AT ?
1, TeTEa: |

5. TeTTiesh: |

3, pefiger: |

4 T |

Correct Answer :-

41) HTHACHAh hel FEATGAH ?
1. IOTIILMRESOT |
» GelferaeniEon |

3, GSEACRMRHCT |

4. YTaeRERoT |

Correct Answer :-

. orgfdenieoT |

42) IRY IEFRY TEFAHAG Fdd

Teh f&eT H 3019 1 =R o ST =6l G
, ThRHA feed 3 Haed I AgiETei |
, TR feel o siaed I o Ao |
5, TEd f&eT 3 #1aed 5 AigiHesIia |
, THREH T 3 srawd A AgiEeSI |
Correct Answer :-

. UShRHE e 316 Hawd 95 agiHesiid |
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Correct Answer :-

. g fasafea: |

44) sasffa: o9 fafersad ?
1. BcdHEANA |

, FGENER |

3 auaawaa |

4, ATCTCTATE |

Correct Answer :-

. ScdWEERd |

45) 9 TR ‘Bed8caanT: A8 §9eT ATl &l ?
| T |
2. i% % ' I
3, G349

4, FAUSTET |

Correct Answer :-

. fefswar |

46) Afeer-ITRATRIE AT folawe o ofaael ?
1. Ay |
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RGEEGE
3_3F¢(I
4, SOTRTOT |

Correct Answer :-

. oreed |

47) TACAATEAGedH, ATH TIhE YIRAdT e ?
;, SR

, HATHHEIR: |
3, TAEA: |

4. AT R |

Correct Answer :-

48) Hfd IV Hicd ?

;. IC HRAIOT |
5, 3SC HRHIOT |
3, 95T HRHIT |
4. T IO |

Correct Answer :-

Correct Answer :-
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50) acled: ﬁmw & ?
1. E l

51) ‘T TR TAIET T el I - Tlel: AT a&r fawfead: wgead ?
| adrr fasfea: |

.

. =qeft faafaa: |

3, FUAHAT fasfad: |
4, 9IHT TqHTERT: |

Correct Answer :-

| =gelt fasrfaa: |

52) hRIec-gleIS-TaeIH-Aa ey Teaalianaasd fhe ?
| e |

5, T |

3, el |

4, TR |

Correct Answer :-

53) & wiToed THAGCN T’ 3¢ HEd o<y oaTvl aod ?
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56) IGAYAGERN: el hoed: ?

| TG ) |

7. HVIIG, IHededd{H |

A L
5, JEETIAI G |
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4, TATETE, AT |

Correct Answer :-

AETERIAAT, GA |

57) 3UAM: Hid #Hen deged ?
, aH |

p, Tehd |

3, &
4, G |

Correct Answer :-

58) 3T AT TERAIGAIG Fed
SEer GFg STedl ool o fol & 6T Bl

I T ol caRd g HATR |

1

, 3d U9 o cdRd e HAATH |

3 31d U4 dl caRd aed heama |

4 ;T T @l IR e HAAH |
Correct Answer :-

34 T ol caXd e HAATH |

59) YsHETHIRAY Ueh fArgareraed et IRIaH ?
L Agdor |

5. ShITCIGTRTT |

3, AL |

4, FRFGT |

Correct Answer :-
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60) e’ 5007 o Al facad ?
L gfergfeer: |

2. aaetatzer: |

5, oo |

4, E‘dﬁ?ﬁﬁ"ﬂﬁﬂ: |

Correct Answer :-

. UM |

61) FefAfEsey §H 3Uda o ardl: o] Yeidled 96 e, ?

~

62) <had’ scUA facHAmET faafdd: o 7
1, T |
2, T
3. AT |
4, T |

Correct Answer :-

aqalf |

63) YIHMATTT ATHTR Tohe ?
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1, e |
5 ifccas#Ta: |
3. fgarma: |

4, STgHIE: |

Correct Answer :-

64) SIRIGT: chid hlcaXAT: fdeded ?
1. GOT {4 |

SR

3, Y 4 |

4, ad I |

Correct Answer :-

66) AHEHMUT hiesl HIcTH 7

el chlcdH |
1. = N

, e |
5, TUSHIETH |

4 itlﬂﬂvlcﬂﬂ\ |
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Correct Answer :-

67) ‘ZREUIRHAHATIARTEHART: deadery’ 5fa @ e Affas ?
1, AfgHIET |

5, TCTERETSA |

Correct Answer :-
. oA HEA |

69) gyerAe: IAM-GETHr: HAl FF T ?
| HETARR HISHYATT |

, YFETTAACTT 3wl |

3, RIACEY CRHATST |

,, FeUrEdeer dicalradfasty |

Correct Answer :-

TIACTd GRIHAYSE |
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70) HNATESY SHRTTEISHRET oTaiol fohs ?

. ARV EaARTeRIGIHATHAT H |

SYATAIF I ced Aeaheda aedel: |
2.

TFATHAT TATGCHETT TG JhelcHaT |
3.

y TAIHIATT TIATcaIhe o |

Correct Answer :-

GFHATAT TATGCHETT TEdpgPellcHe |

72) YRIVITEAT SI&vTIel hid ?
1, 3¢ |
2, I |
3, dtd |
T

4

Correct Answer :-
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ATTHGIhd: ‘FATcehashd, YAAT: sl fdgur Ifaenfaaated ?
. & TR AT |

, T&. Frorafaentes agremdte

3, SIS HETAMEN |

SATIAh T HITT HGMHET |
4. oA

Correct Answer :-

. Te. sorafaentEr Agsmee

Correct Answer :-
. 3odeTE: |

75) 3R ATERIT WG Hd
g &1 51 g Bl

| Gcard ST st |
>, Gcdel ST afd |
3, Tcded SIar #1did |
4, GO ST AT |

Correct Answer :-

. GoOEd ST atd |

76) <arareE’ Scd TdHE: SuH fhad ?

1 3+ 37T |
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, AT + 37 |
3 At + 37 |
4 T+ 3T |

Correct Answer :-
. T+ 3T |

77) e IR @oshed e ?
[ERIGIE GIRE
1, ATH |

hHANTFIIH
2, 2 .

3, e |

1, VI

Correct Answer :-

Correct Answer :-

o HUAT |

79) YRIOT Ieggerel: weme: THE: & ?
p, adead: |
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Correct Answer :-

80) “qorgRoaT{eT: Hgaldrerey UissgH sfd & 37ded ?

| HIOTETE: |

82) FREHe d¢ TTIHARET: Tdedd ?
1, 3G

2_311'9’éﬁ'|

3, TATE |

8, TIF

Correct Answer :-

. aﬂéal
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83) ‘grnifag Yl UAORAERY 5c0 T IJATHN: T ?
| TTITeTSHh: |

STHTISHR:
2. 2 '

3, TATEATCTSHR: |

84)

‘FITCY ATH FICTAUTHTRRT Fdl &: ?

5 HAFal: |
3, GUST |
i cgzdIfEa: |

Correct Answer :-

2, 9o |
3, ded |

4 3T |

Correct Answer :-
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Correct Answer :-

. AAleIhuaaIard: |

87) 3ETSTHI: e HIEM: ?
1, BTeeRT: |

y, AR |

3, ARE: |

4, ATHTERT: |

Correct Answer :-

88) dFedd oI T qerred fore ?
1, o= ]
. o

, Taeaaomes=Fy |

3, diqdla-dad=ldy |

ITGREEaR)
4 T2 I8 |

Correct Answer :-
geedesdhady |
o

89) FHifcledd Siifad: edmes: o: sfa TGS IH=d: dgfed ?
. foh.9. FaAerdmse: |

5 fsh.ar. 3rceAdmse: |

, o, JrcHErss: |

, Toh.er. ageferqerdrse: |
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Correct Answer :-

. Tohar, mgelerderdree: |

90) sreffrfésey gdl sdamferl Fesavcadl @t ?
Fd, daq Jedt |

1

, cal, &aY Fogdt |

5, U, AT Tt |

4, ded, AR g=7=4t |

Correct Answer :-

Fd, dad Jcgdl |

=

92) THAYheTChH HET Jgadesh fHAegafd ?
| A |
>, ARTAT |
3. TIRTSTET |
4_§?ﬂm|

Correct Answer :-

. AR |
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93) Togd: SI&TUNeT 37TEl ahef I=difer ?
1. AT |

5, TETAERT |

3. AHEGI |

MREECEIE i

Correct Answer :-

94) TRIqUTeTa e HH HETCaTT Shall & ?
1, HTE: |
2, FICIETE: |

ARTA: |
3

4, TES: |

Correct Answer :-

95) arerifhagioT fRfEg anfeareafafa deufas Agmed e ?
| ARGIYHGTRCI |

, MHCIHARTH |

3, AACTEHIRRTATIVTH, |

4 ATATHAGRIVTH |

Correct Answer :-

THCaTeAhRTHTIONH |

96) ‘HAGr AEE: UK & AT AMEERRA 3¢ $hed oTafv 7
YT Sh e

1. 2 R !

, TRENTETSHRE |
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5, SCHBTCTSHRET |

4, SHHATGHRTT |

Correct Answer :-

97) ‘FHTSAG! AT TRAATRET Fedl & ?
. EOTEE: |
. AfgAsE: |
3, oolHE: |
4, dIUTHE: |

Correct Answer :-

98) 3ioScedcd UIGehEHs] hicl T&RIVT faeded ?

1, 352t 37ETOT |

Correct Answer :-

. 37S¢l 3&IoT |

4, Jcdll: |

Correct Answer :-

JsC |
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100) 3E ATEFIET TEGRATGIANG e

e e 3adht 9|
, AfEas gus: afeas Afg |
o, TET EUs: a&g HfEW |
3. I gus: | Afgl |
4, T TUSTAA AW |

Correct Answer :-

. ¥ gUs: & AW |
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